Simplifier le plus possible 'écriture des expressions :
2x X =2X

yx3=3y

axbxc=abc

4dxax5=20a

4h+9h =13h

4x(a—b) = 4(a—b)
(4=X)x7=7(4-X)

4x(4—-a)+ax(B—-4xx)=4(4—a)+a(B—-4x)

8x(7—-3xXx)—4xyxt=8(7—-3x)—4yt
axa=a?

2xbxb=2bh2

5t x 8t x t = 40t°

cxcxcx3=3c?
axa+bxb=a2+b2

5hx7hxd = 35h2d

axbxa=a%

XX YXXXYxX=X>y2

XX XX (Y —4xX)=x3(y—4x)
7Tx(X—3xXxX)=7(x—3x3
TXxX=1x2

abxab = a%h?

axbxaxbxa=a’h2

2xtxm=2tm
yx5xh=5yh
a2xb®*xc=azb’c
Axaxa’=4a’

4da—-3xa=4a-3a=a

5X2 — X x 3x = 2X?

a2bx ab® =a’p’

2h+6xh—-3h=5h

(2+yxy)x3x (t+t—3) =32+ y)(2t - 3)
d x(3d +5d) =d x8d =8d?2
5xhxh—-2xhxh=5h2-2h2=23h2
4—(axb+7)=4-(ab+7)

axbx(c—d)+(2—a)x3=ab(c—d)+3(2—a)
XX(5=X)x6+4x(2—X)=6X(5-X)+4(2—X)
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